ZHd == A B C D E F G H | J K
‘ DS—100TESGD-L 97 2151 190 ] 139 49] 165| 90| 70| 138 183|113
! ¢ DS-125TESGD-L 122 245] 220 | 154 56| 197 98] 100 170 | 217110
DS—150TESGD-L 147 1 2450 220 | 172] 74 197 98] 100 170 | 217|110
[ ¢ DS-1/5TESGD-L 1721 305 275 220 | 92| 240 | 128] 120 210 | 270 [142.5
‘ ¢ DS-200TESGD-L 198 ] 305] 275 | 229 ] 101 240 | 128] 120 210 | 270 [142.5
|
]
- -
! \
\ - ‘ ,}J\
dl \@
D
A—ARRH G E
_— ’:
|
|
/’!‘\
- // ‘ \\
/ ! \
/ ‘ \
S I S 3 <
\ T / = -
\ ‘ / |
\ | /
S~ al]
|
! 2—-95
— : ~
I A ] ® \@
Y. Voo -
| |
|
|
| o L]
J WG, St
S A R N t=0.5 ’ED@EW,\? H/) anid
12| TYA E W79 EHRCRUZT
1] — —1 = —
o] — -1 = -
9 [ B e t=0.5~0.8
8 | Bikm/Svwy | 1 |macPOM = ~ » S+
7 [egEa—zx |1 ~ 72°C ‘/)b/\*//t%{qt /‘ZY
2 @9(9‘)/\7 i ?3233%?“ th .5 %ENOMWZ@*UZ?J
<& T [Emn t=0.5 = AU [DS—* ¥ TESGD-L B[ s |B] b
3 p— — J— — NN i =
\ 2 | o8 AEH | 1 |Jrmsenk = N gﬁif; t%éﬁjuga TESH té‘g‘; E?ﬁ\ gﬁé%
gkl TCEE | )NBENSARTESSHCERALTTSL, B L P 5 0.5-0.5 VY E— _ o= B LIRAIE




